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1 (a) How can National Savings, private Savings and

Government Savings be calculated? What will
happen if government deficit increases?

(b) What precautions should be kept in mind while
calculating national income?

(c) What is GDP deflator? How is it different from
consumer price index? How does CpI inflation
overstate the increases in cost of living?

(d) With the help of data given below, calculate the
rate of inflation for each year from 2Ol4 to 2017,
considering 2013 as base :

Year 2013 2014 2015 2016 2017

CPI 600 6s0 64s 660

(s.7 5,4,s,4)

(ir) tr$q erf,, ffi T{d Bfrr vc+rt qqa fr rrsm *+
aft w q-q-& *? R..6lt sra Ea+ Tr wr +rn?

(a) r$a Bnq * T{n q-<i rrqq ft-+ weqrftif si tar;r
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r*Tt ftq e? fffuTr{ TcTFftR +{iqTqr d arrra t
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(d) Given the following information :

Consumption C = 100 + 0.75yd

Investment I:200 - gi

Government Spending G = 150

Tax T = 0.2y

MoneySupplyM=400

Real Demand for Money L = 0.4y _ 2i

'(ii) If the government spending increases by
50, explain the changes in the IS curve
with the help of the multiplier formula.

(6,4,4,4.s)
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(i) Compute the IS and LM functions and
equilibrium level of income and rate of
interest.
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(a) How does an incre'ase in autonomous spending

affect the equilibrium level of income? Explain

using 1S-LM analYsis.

(b) Under what circumstances can the LM curve be

vertical? Use suitable' diagram to explain.

(c) What are the factors determining the slope of an

(q) fri frs rq qffi fr rcrq<r t, zota t 2ol7 ntn.

vA6 qd + ftq 5fldtR fr rt d qqfl qt, 2s1.

d smm qnt Es 
'

Year 20t3 2014 2015 2016 20li

CPI 600 650 645 660

(a) How is the rate of interest determined by the

demand and supply of money (assuming no banks

in economy)? What happens to the interest rate

if:

(i) Nominal income falls

(ii) Central bank chooses for expansionary

open market operation.

(b) "What are deterrnined in bond markets are not

interest rates, but bond prices. In this context

distinguish between expansionary and contractionary

open market operations. How do they affect the

balance sheet of central bank and bond prices and

interest rates?

(c) The following financial market data is given for

an economy (in rupees): Currency = 5000;

Reserves = 1000; DePosits = 10000.

2
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(i) Calculate size of money multiplier

(ii) Monetary Base

(iii) Money Supply 0,6.5.75)

(or) I.{ d TrrT uk iil$ (srfqsen + +{ +*. T& rrt+
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(a) Examine the. impact of a contractionary fiscal
policy on dutput & interest rate under two
assumptions :

(i) Interest rates are kept constant

(ii) Money stock is kept constant

(b) What is liquidity trap? Is monetary policy
ineffective in this case?

(c) Explain why the income tax system or social
security system are considered automatic
stabilizers?

(d) Consider the following Keynesian model:

Suppose full employment output (y*) : 1000,
Actual Output (Y) = 1100, Government purchase
of goods and services (G) = 200, Transfers
(Tr) = 26 and Taxes = O.2Oy. Compute (i) Actual
Budget Surplus and (ii) full employment budget
surplus. .. (7 ,3,4.4.5)

(or) i rr+or*.* n-ro ssr<+ efu qre et q( c-+' vtl-{
{rs*1ffc fffr * carrq * vrq 6t:
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(i)

(u)

(iii)

tI{ nur{' + !{rsR d qqqr qi
iF+'srnm

g-*r ffi
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3 (a) Explain the concept and causes of Hyperinflation?
Suggest policies that the government can use to
control Hlperinfl ation.

(b) Comment on the following statements. Justify your
answer.

(i) The Inflation Tax is
seigniorage.

always equal to

(ii) An increase in the rate of interest leads to

an increase in the price of bonds.

(c) Calculate the money growth rate required to
finance the budget deficit of Rs. 10000 in an

""o.rorny.' 
Given the following information :

Income (Y) = Rs. 1,00,000

Nominal Money Supply (M) = Rs. 80000

Price Level (P) = Rs. 2O (7,6,5.75)

(er) rrtwr*rt fr reuwr 3fu 6RA d qrter ei- t
v{ *RA 6T lsrs ? fu{6r 3q-Ar sc+n srEqcfr+tqm

+ ffcFfi 6{i + frs o-t r-+-& *r
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tft fua qtr

P.T.O.



, 4321 6..
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(a) In the Classical Model, an autonomous decline in
investment leads to a fall in the overall demand in
the economy. Explaio, with the help of a diagram,

whether you agree or disagree.."

(b) How is the labour demand curve derived under

classical model? ( 10,8.5)
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